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instructions. -

(i) All questions are compulsory.
(ii) There are lwo sections in question paper, Section - A and Section - B.
(iif) In Section A Q. No. 1 lo 4 are objective lype questions, each question

carries 5 marks.

(iv) In Section B, there are Q. No. 5 to 18 and internal options are given in each
question.

(v) Q. No. 5 to 7 are very short answer lype questions, each question carries
2 marks.

(vi) Q. No. 8 to 10 are short answer lype Gguestions, sach question carries 3
marks.

(vii) Q. No. 11 io 15 are iong answer lype questions, sach question carries 4
marks.

(vifi) Q. No. 16 to 18 are long answer fype questions, each question carries 5
marks.

(ix) Draw neat and labeiled disgrams wherever necessary.
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(i)

(1)

o e R Ay 1X7=7
Choose and write the correct alternative

A F7F J 9 @) g ad 2

a) 4 b) 3 c) 2 d) 1
number of individuals in asexual reproduction-

a) 4 b) 3 <) 2 d) I
e g @ aig] &1 aRee= &eamm 2

a) Qo

b) @

¢) T,

d) IfFrEwa,

The development of an cgg without fertilization is called-
a) apomixcs
b)  Agamospermy
<) parthenogenesis

d) Parthenocarpy
WFHRE ae JrafiE F9 A @ F99 Ay seom L)

a) A

b) q'H$
c) g
d) wafy

The orgamism similar in morphology and genctics arc -

a) clone
b) Gamgctes

<) Zygote
d) progeny



(iv) JT@ R T AT AN S A AN A qu I & O = oead &

a) U forf

by feferf

c) wEfah

d)  wuferh

When male and female reproductive organ are found in one organism the are
known as

a) Unisexual
b) bisexual
c) Homosexual

a) Polysexual
(v) R Rwrom & T aren #)
a) IR fwrem

b) =FER R
c) I RER
d) ¥TF s

Meiosis division is also known as-
a) Amitutic

b) Reduction division

<) Mitutic division

d) Nuclear division

(v1) gg?-ﬁ'—tzn:n\!

a) TATEH
b) FEETZIE
C) qal

dy EWE



Humulin 1s

a) enzymes
b) Carbohydrate
<) fat

d) hormones

(vii) =7 d
a) AL g
by IEuRIgA
c) ISt
d) JEauTs
1s human
a) oviparous

b) Viviparous
c) ovulation

d)  Oviviparous

2. Raa wrl & g o fafed 1X7=7
(i) Ay e aois e Refma N
(i) FuERs e RN e IrHg e
(i) T @A H gD T FEAT E |
(iv) S agaiRm @ | A 1= 1 - > [« [ 41« B
(v)y ImMPARmA e dmarts B

(viy cEwgE M AN g . B @ arh &
(viiy U @R B QATER W e FTa &



Fill in the blanks and write.
(1)  DNA fingerprint technique was developed by ..................

(1) A typical angiosperm embryo corpuscle has...................... nuclei.
(1) Symptomatic relationship between fungus and algac is known
BS.. it
(1v) Against discases IN @ VACCINC. .......oouviiniiiinninnninnnn.ns Is present.

(v)  The best bio technique to prevent diseasets..........................

(vi) Typhoid discase is identified by..................... test
(vit) The segments of DNA are joined by ........................ enzyme.
T g % oo e 1X7=7

(i) "o A & ¥ FEa &
(i) #ra ¥ fam Patvo e Fm 3 aRv g &7
(iii) N d F @ 9w fafaw

(iv) 99 IdR® 3 9 ¥ 9917 fFT I a1 0P FIEAeRIRG & T
fafag

(v) =1 dat gR A e/ @veaar Froao vl @ @ s €0
(vi) #e ggfem f&a-h dfdverds saaet d o0 8 )

(vii) #TY TEEAT F JEGY7 HTATAT 2 |

Write the answer in one sentence each

(1)  Fish culture 1s known as

(11)  Which chromosome 1s responsible for sex determination tn human
beings.

(in) Full form of BOD s

(1v) wnte onc name of cyanobactena that used as a biofertihizer
(v) Weed control method by micro-organisms is called.

(vi) Human insulin 1s made up of how many polypeptide chains
(vi) Study of human population is known as



wih wfyat wrev fhfag

Column A

(31) =T
(W) FHA HaE

(¥) "9

(T) 100 AU weReaEe
(}) Imae

(%) wfran

(m  FR

Match the column A and B

(a)
(b)
(c)
()
(H)
(8)
(h)

Column A

Pancreas

Energy flow

Human

100 pnmary spermatocyte
Cascuta

Malana parasite

Cancer

1X7=7

Column B

(1)
(1)
(111)
(1v)
(v)
(vi)
(vi)
(vii)

(1x)

(1)
(1)
(111)
(1v)
(v)
(vi)
(vn)
(vin)

(ix)

got oRArdY

400 @Y

Hegw

10% fram
L Sl

Column B
complete parasite
400 Sperm
Insulin

oncogene
Plasmodium
consumer
Mosquito
10% rule

Earthworms



WYY 07 R qTe # HE 21 R fafag ) 2

Write any two difference between self pollination and cross pollination,
3gar /OR

AfrE @ e T 9 w2 R fafae

Write any two differences between sexual and Asexual  reproduction.

oo RfY g fd| &1 a@eor s omn @ 2
What is diagnosed by Amncosentesis
st /OR

TR T ¥
What is a Test Tube Baby?
GIFTa qu 7 fafag . 2
Write the full form of GIFT.

I /OR
ZIFTa& g m fafag
Write the full form of ZIFT
SaRad= fad e &2 2
What is called mutation?

3Jar /OR
weaal f5d Ted &7
what is called Linkage?

P fH5a Fea &4 2
What 1s codon.

aerr /OR
e 5 e &
What 1s cistron.



